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Задача 1. 
Дано: 

1 2 3 4 5 6 7 8 
34 45 51 12 26 63 53 42 

R1=620 Ом R2=210 Ом R3=150 Ом R4=540 Ом R5=430 Ом R6=340 Ом R7=450 Ом R8=510 Ом 
 E2=500 В      E8=1000 В 

 

 

Решение: 
1. –I6+I5-I3=0 
2. I3+I2-I4=0 
3. I6+I4-I1=0 
 
K1. E8=I6(R6+R5)+R1I1+I5R5 

K2. E2-E8=-I5R8+I2R2-I3(R3+R4) 
K3. –E2=-I2R2-I4R7-I1R1 
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Подставим значения (R и E) и найдем I 
 

 
Решим эту задачу методом контурных токов 
I) E8=II(R6+R5+R8+R1) – IIIR8 – IIIIR1 
II) E2 – E8=III(R4+R3+R8+R2) – IIR8– IIIIR2 
III) - E2= IIII(R1+R2+R7) – IIR1– IIIR2 
 
 
I1=II - IIII 
I2=III - IIII 

I3= - III 

I4= - IIII 

I5=II -III 

I6=II 
Составим матрицу 
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Найдем U64 – ? 

 

4 – 2 – 6 – 4  

E8=I5R8+I6R5+U64 
U64=E8-I5R8-I6R5 
U64=100-(-0,23149) · 510-(-0,00059) · 430=218,3136 B 
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I1=EЭКВ/(RЭКВ+R1) 
EЭКВ=U34 

E8=I3R8+I2(R5+R6)+U34 
U34= E8-I3R8-I2(R5+R6) 
U34=100-(-0,23090) · 510-0,58393 · (430+340)=-231,8671 B 

U12= ϕ1-ϕ2; ϕ2=0; U12=ϕ1 



http://elhimik.narod.ru 

 

ϕ1=(E8 · 1/R8 – E2 · 1/R2)/(1/R2+1/R8+1/(R5+R6)+1/(R4+R3))= - 230,7  

U12= - 230,7 
E2-E8=U12+I3(R2+R8) 
I3=((E2-E8-U12)/(R2+R8))=(500-100-(-230,7))/(210+510)=0,87597 
0=I2(R5+R6+R7)-U12 
I2=U12/(R5+R6+R7)=-230,7/(430+340+450)=-0,18909 
 
 
 
 

 
1/RЭКВ=1/R’+1/R’’+1/R’’’ 
R’=R5+R6+R7=430+340+450=1220 
R’’=R3+R4=150+540=690 
R’’’=R2+R8=210+510=720 
1/RЭКВ=1/1220+1/690+1/720 
RЭКВ=273 Ом 
 

I1=-231,8671/(273+620)=-0,2586 - ? 
Баланс мощностей: 
PИСТ=PПР 
PИСТ=I2E2+I5E8= 
PПР=I1

2R1+I2
2R2+I3

2(R3+R4)+I4
2R7+I5

2R8+I6(R6+R5)= 


